
An elementary proof of the fact
that tb & rot are

the only classical invariants
mmmm

recall : combinatorial data off Legendrian knot : ( in frontprojection)
#positive crossings # f- #I

ii.n.ci#cuucrEicriuk~
#negativeTossing' ↑≠£ # 2

Propositions. Let 4,4 be Legendrian knots in 11123
,
1st)s.t.tbl41-tblt.it

, rot 141 = rotlbl

Then there exist front projections of 4 & Lz s - t
.

(p
',n^ , Cia , Ciu , Cri , CRI / = Ip? n

'

/ É↑ , Cia , Crit Crit

Corollary Let F be a legend ian Reidemeista -more invariant

function in pin , Citi Citi CRT / cR↓ -

Then
, if tb 141 = tbh ) & rotor/ notKel,tui=N

MORI : tb & rot are the only
"

classical invariants
"



proof of proposition : C↓=4↓+cR↓

t-b-tbll.gl ,rotlhl-rotlhlcp-cutcrtp-nf.ge, pen , _ % , ↓cr=CR↑+cR↓
-by using Reidemeistu I &# we can achieve that

p'=p
' & n' =n2 since

- → 27:
using this

,

achieve that 1=1

then we just (RI) to achieve p
'

=p
'

⇒ get equations lit i=i⇔c1=cL⇔ck=ck⇔i↓+d↑=d↓+ci,
& Gil if - in,=c↓ - ch,

ti / + Iiit :Hcj=c↑
Ii) - Iii) : 2) CI = Cj also p' =p

? & n' =n2

314=4
4ir=ir

seems like we are done . . .

but we just have lpiñ , in , ciici.ir/--lpinicj.ci,ciiq1



but : it is still possible that Ike 71st.

Cui = Cui + k
EY ci↓=ci↓ - k

Crni = Cri - k

CRI = Crf + k

to fix this problem we do different LRI - moves on ↳ & Lz

LRI

, + terigin = Cia + k f- → t1ci↓
ci↓ = qiu - k LRIA for Li

,
gin, = Cri - k LRIB for Lz

cñ↓=cñ↓+k f- →£) + the
+ 1 Cia

LRIB

Important: after this move, since LRIA & LRIB are performed simultaneously,
we again have that for Li & [

lpiiñ , ii. ii. E.ci/--lpinTci.qTiiicriT

therefore we know that
, again

:



we now determine IT
Ñx=Éi + I
E↓=cI↓ - I ⇒ in, + k=cix=cI↑=É↑+k= 4×+1 + I
% = 5in, - I

É↓ = 5i↓+ñ soÉ

so we can repeat this process until 1<=0

⇒ provided tb /41=1-6141 & rot (4) = rot (4) 7 projections for
↳ & L

,
sit

.

(ptntqinicincriicril-lptntciaiciwc.mil Cri )

☐


